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Challenge of Mulltiagent system
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CTDE (Centralized Training Decentralized Execution)
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DEC-POMDRP (Decentralized partially observable Markov Decision process)

G=<S,UP,r Z O Nny>

« S € S:state

« ue€U:Joint action

« P(s'ls, u) : transition function

* r(s,u) : reward function

* a:agent

 z € Z:observation

* O(s,a) : observation function

« 1% € 1:action-observation history
« y.discount rate
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Problem statement
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Key Idea

Keylidea

« CTDE X0

argmax,: Q1(7%, ul)

argmax Qo (T,1) =
u

How to ensure this ?
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Qmix Architecture
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Method
Mixing hetwork
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Conclusions
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